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49 They move to a very small place. Mr. Loisel gets a second job.
Matilda washes clothes for others.

50 Ten years of hard work makes Matilda old and worn. After ten
years, Matilda runs into Mrs. Forestier on the street.

51 Mrs. Forestier, good morning.

52 Do | know you?

53 Yes, it is me, Matilda.

54 Oh, | cannot believe it! You have changed so much.

55 I have had some difficult times because of you.

56 Because of me? What do you mean?

57 Do you remember the diamond necklace you lent me? Well, |
lost it.

58 But you returned it to me.

59 No, | returned another one just like it. It took us ten years to
pay for it.

60 You bought a diamond necklace to replace mine?

61 Yes.

62 Oh, my poor Matilda. Why didn’t you come to me and tell me
the truth? My diamond necklace was not real. It was worth

only 500 francs!

A 01 I hate livinglto live] here!
02 I have nothing to wear to such a fancy party.
03 After buying the necklace for Mrs. Forestier, the couple
spends ten years paying back the money.
04 We are invited to the Ambassador’s Ball.
05 It took us ten years to pay for it.
B 01 I 'am sure she will lend you some of her jewelry.
02 Let me go at once.
03 I am glad you enjoyed yourself, but | have to go to work in
the morning.
04 When the necklace is not found, Mr. Loisel tells Matilda to
lie to her friend.

05 | have had some difficult times because of you.

pp.82~85
01 because of 02® 03@ 04 ®
05 | suggest you visit Independence Hall. 06 @

07 @ 08 @ 09®

10 She was very disappointed to find that she didn’t get the job.

M@ 12® 13®@ 14@

15 Next time, don’t become confused when someone uses the
word kiwi, which has several meanings.

16 ® 17 @

18 If you say “kia ora” to the villagers, they will be glad to hear it.

19@ 20 (n)ational
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06 Is it possible for her to control 07 ® 08 @

09 @ 10®

11 I'wish | had an opportunity to travel around the world.

12 I'd like to know iflwhether] Mr. James is our new history
teacher.
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